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Q.No.1to5: Read the following passage carefully and select the most correct answer of the given

questions.

The expansion of our range of perception is a natural consequence of the growth of consciouness. It 15
part of normal human sensory ability, there does not have to be special purpose for it beyond the expenience
itself. Youdon'tneed to be overly concerned with what to do with your new expenences, just let them be
what they are and carry on with your life as before. If there is any vision that you need to act upon. you

will know what to do, you won't have to try to figure it out.

1.  The basic guiding proposition, according to the passage, should be-
(1) Spontaneity (2) Naturality
(3) Neutrality (4) Consciousness
2. What could be the suitable title to the passage ?
(1) ‘strive’ to make it happen (2) ‘wait’ forittohappen
(3) ‘Express’ to make it happen (4) ‘see’ what happens
3. Whatis the part of normal human sensory ability, according to the passage ?

(1) range of perception (2) growth of consciousness

(3) new vision (4) new experience

4. Anew vision, according to the passage, fructifies—

(1) when our perception grows (2) when one applies one’s abiliues

(3) byitself (4) when one figures it out

5. Any new experience, according to the passage,—

(1) shouldjust enrich one’s experience (2) needstobe analysed

(3) mustchange one’s life (4) mustbe putinto practice

6. Select the suitable articles for the given sentence:

My friend always likes to travel by ........... air since he 1S ...oooevenens very busy man.
(1) the,a (2) the,Noarticle
(3) Noarticle,a 4) an,a

7. Choose the correct ‘prepositions’ for the given sentence :

You must account ........cecueee your absence .............. the hostel warden.
(1) for,to (2) to,by
(3) about, for 4) of,to
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8. Choose the word nearest in meaning to the underlined word in the given sentence.

The five experiments gave disparate results.

(1) similar (2) encouraging (3) strange (4) different

9. Choose the word opposite in meaning to the given word : ‘Frailty’

(1) Fatigue (2) Strength (3) Health (4) Boldness

10. Fillin the blank with the appropriate passive form of the verb from the alternatives supplied.

He ...cooeee if we think it necessary.
(1) hasbeen interviewed (2) will be interviewed
(3) would have been interviewed (4) hadbeen interviewed

11. Choose the correct alternative to fill in the blank.

He will win the race if he ............ running regularly.
(1) will practise (2) would practise
(3) wereto practise ) (4) practises

12. Choose the alternative showing the correct indirect narration of the given ‘Direct speech’.

“Don’t answer me back like tiat’’; $aid Rohit to Radha.

(1) Rohit asked Radha if she would not answer him back like that.
(2) Rohit ordered Radha don’t answer him back like that.

(3) Rohit ordered Radha not to answer him back like that.

(4) Rohit told Radha to not answer him back like that.

13. Identify the figure of speech in the following line :

“To err is human, to forgive divine’
(1) Anticlimax (2) Antithesis (3) Oxymoron (4) Metaphor

14. Identify the part of sentence which has an error :
‘when he was tired / he took rest under / the shade of a tree / No error.’
A B C D

In A (2) B 3 C @ D

15. Name the underlined ‘clause’ in the given sentence :

I shall go to the place where my friend lives.

(1) Adverb clause of place (2) Noun clause
(3) Adverb clause of time (4) Adjective clause
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16. Choose the one which is the correct ‘Question Tag'. for the given senten
ce

‘Neither of them is good’.
(1) ?sn'tit"? (2) isn’tneither ?
(3) isn'teither? 4) arethey?
17. Choose the mis-spelt word :
M) svurfous (2) studious
(3) subsidary (4) sensible
18. Choose the alternative which best expresses the underlined phrase.
‘Rust has gaten away the plate’.
(1) corroded (2) consumed
(3) confiscated 4) swallowed

19. Select the combination of numbers so that alphabets arranged accordingly will form a meaningful
word.

CI ADULP
12 3 4 5 6

(1 q29534 (2) 653124
(3) 621534 N 4) 1;2653 1
20. Select the combination of numbers so that the parts airanged accordingly will form a meaningful
sentence.
1. Western countries . 2.  areless spoiled
3. by pollution 4. than
5. theonesin 6. Indian beaches.
(1) 623451 (2) 123456 (3) 624513 4) 312456

21. State what part of speech is the underlined word :
He was all alone when I saw him.
(1) Adverb (2) Adjective (3) Pronoun (4) Noun

22. What does the underlined modal auxiliary express ? She must have left already.
(1) Obligation (2) Necessity (3) Logical certainty  (4) Desirability

23. Which of the following pairs is not correctly matched as ‘one-word substitution’ ?

(1) One who hates mankind - misanthrope
(2) One who helps the poor and needy - philanthropist
(3) One who collects or studies stamps - philatelist
(4) One who hates women - philanderer
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24.

25.

26.

27.

28.

29.

30.

Choose the grammatically correct sentence :
(1) She s strong enough to carry the box

(2)  She s too strong to carry the box.
(3)  She is enough strong to carry the box.

(4)  She is strong to too carry the box.

Choose the correct alternative :
(A) Thirty-one cannon were fired to greet the royal guest.

(B) Forsocial peace and harmony, we should all observe the canons of morality.

(1) Only (A)is correct. (2) Only (B) is correct.

(3) Both (A) and (B) are correct (4) Both (A) and (B) are wrong.
Choose the odd man out :

(1) Deer (2) Sheep

(3) Swine (4) Elephant

Choose the alternative which best expresses the meaning of the underlined idiom :

Parents pay through their nose fotfheh-children’s education.

(1) by taking loans (2) anextremely high price

(3) grudgingly (4) willingly
If Sunidhi has tumour in her body, who will treat her ?
(1) Radiologist (2) Gynaecologist

(3) Oncologist (4) Osteopath

Which of the following is a rhetorical question ?
(A) Isitfairto mislead parents ?

(B) Are you willing to join our group ?

(C) Can you speak English fluently ?

(D) Have you visited the Taj Mahal ?

(nH A (2 B 3 C 4 D
Choose the correct simple sentence for the given sentences :
(A) They tried to persuade the principal.

(B) The Principal denied their request
(1) By trying to persuade the Principal, he denied their request.

(2) They tried to persuade the Principal but he denied their request.
(3) Despite their trying to persuade the Principal, he denied their request.

(4) Though they tried to persuade the Principal, he denied their request.

Q.B. Series — 102/202 Marathi / English / Math-Science (Set-A)

6 of 32

www.adda247.com/mr | Adda2471=RTcﬁApp | https://t.me/Adda247Marathi


https://play.google.com/store/apps/details?id=com.adda247.app

TEt

31, CwRRUR N’ wfaarETer wel @l

' (4) tazzm =

32, W@, 3 WA HURA AquEEaT wfaaeas f:87?

(1) @®vEyd (2) -

HyrEgd (3) ®IEFAN (4) 7

33, wols wRONA 12 S1aR A A-4-4-4 T € I e Ao sea?

(1) wfe (2) SiT9aTE (3) adafaaas (4) Ve
34, YEEEHER THIA HSU TSI HIUTAI?

(1) ¥ (2) 33U (3) Iae (4) woif=rmm
35, YRMEEATA FEAGER STE R HIOTAT?

(1) fgm (2) o (3) fagu (4) A
36. mw'm'ammmm?

(1) =™ (2) A (3) AEH (4) FEAA
37. WWWWWWWWW&@?

(1) 3cAgARS (2) F=fa (3) HEIAA (4) =orHATHF
38. ﬂm,“ﬁﬂﬁ."mmﬁwmﬁ%m?

(1) 3 | (2) @A (3) g (4) TH
39, gaETHHH 3T SR HIUET?

(1) 9T (2) Ius (3) B (4) THH
40, ST GETETT Ie hiwI?

(1) e (2) fagar=ad (3) disde (4) T
41. ‘33 TR EEn, AiRd Sta el

Wm,w@m

2% @ien A% ged e wifest.’

Heiffg weadadae) HIva ™ ae?

(1) wd (2) 5T (3) HE (4) TH

7 of 32

Q.B. Series - 102/202 Marathi/ English / Math-Science (Set-A)

www.adda247.com/mr | Adda2471=RTcﬁApp | https://t.me/Adda247Marathi


https://play.google.com/store/apps/details?id=com.adda247.app

42, faoie yreoneE) afesn.

(1) W39 (2) el
(3) WI3E-dre (4) wrzi-mial
43, fawguedl vt orge i€l e
(1) S&a x 9rd (2) ®9 x T=ET
(3) I x |YF (4) FHEY x fAET
44, “USEIEN YR AR A eviien sy Wi srerd o
(1) TREG Jrdren e (2) @@ @ Fw foe
(3) U1 HE! e (4) Hrem A e
45, ‘SR SRR A QEERHE YRI-FRA HE UhA YR ] TEd
(1) 373 (2) 4d (3) fg= (4) AT
46, wwﬁmmﬁwéwmmmmmﬁ/
(1) 34 (2) fada (3) 3fem (4) aHI
(1) HIHRETH (2) FacEH
(3) fasers (4) aAEEAHTAYI
48. TETAUF! HOR SHeH HIUA?
(1) = (2) ¥ (3) 9 (4) 3

49, T9-3794 U VIsRT=Al UHRD W feRdl ST ?

(1) T4 (2) =R (3) el (4) 33
50, femfaaRr=a gFTEl SIS o2
(1) aR-FZH (2) g&-9d (3) F&-Aren (4) AT-37aT

51. TEMHER T A FHOR Y& HI0MI?

(1) faER (2) T (3) ¥ (4) =g
52. WeeTds] WeAAwErd favadt Fivw?

(1) A (2) wemr (3) fgdar (4) =g

Q.B. Series — 102/202 Marathi / English / Math-Science (Set-A) 8 of 32
www.adda247.com/mr | Adda247 WISt App | https://tme/Adda247Marathi


https://play.google.com/store/apps/details?id=com.adda247.app

@mgﬂmﬁummmﬁrwummﬁam?

53,
(1) (2) = (3) W p—
54 'mmmmmmm'ﬁmmmmwm?
(1) it (2) draTe (3) wee c43 e
55, mmwmzﬁwm?
(1) wege (2) <framafed (3) e (4) 4
56. (g’ a1 ATt da e Siond?
(1) w (2) IR (3) TSt (4) 34
57, WY 9§ @M 3. I I $B eSal.
(1) Ofa sEepes (2) Ofa adawe  (3) Of "fawwm (4) FdEEER

v.ss%eo@aﬂﬂmwamﬁmmﬂfﬁsﬂim.

mﬁﬁ@m@ﬂhﬁﬁ.mw@wmmwﬁ
ar@mﬁﬁwmm‘r@ﬁamgawa@amaﬁw!ﬁ,wmwww
mﬁ%mmmﬁmt@mmmmmﬁwwﬁqwmﬁm
mm@,nﬁﬁwa@g@wamﬁﬁmw%wwmm
Hdeq 3@ el FE?

58. 9 9@ "N FE?
(2) FFH TR (3) HYE =9 (4) dfsren qmoft geur

(1) @A 9
59. UG GUW WO SOl IO Hen 3AR?
(1) ¥ g (2) i FOR A
(3) "eA IR e (4) SRfEH, Feuw g
60. A HomE ARFIA BA IR?
(1) T 5o (2) wog®h 9 A TS
(3) wed YBVIEAT oA (4) TR gor=al e
Q.B. Séries —102/202 Marathi / English / Math-Science (Set-A) 9 of 32

www.adda247.com/mr | Adda247'FRTcﬁApp | https://t.me/Adda247Marathi


https://play.google.com/store/apps/details?id=com.adda247.app

ATAATAEITEA d A9

61. Wﬁwmﬁﬁumﬁmﬁmmammmmmﬁmm
TAfAE el SoR B 3T s i gfquRT Sl 3. '
(1) 92 (2) fear (3) @ (4) o2 9 AHSTES

62, SIS s Y Tl W FRHET o e e . A AR
T YRt Hiv faym g TER
(1) &R fawEmEed qagdr & 7@ ¥e& 379l
(2) HF faw@ & THAR G, €l
(3) T 3 TETEEST GEAE A e e e §Eee e
(4) T, TEW, S 3. FRE P T

63. el facied HagAl SIEIUIHE HIU I A AET?
(1) as smafeyd saadien a1 e Fas g
(2) T 99 YST 1 IHEEd FA AR YYF Hedd
(3) @R Y disM AHeIER WHAA A B
(4) 9@ TeaER 3FS A YT FHE YSdm.

64. T fciean sramyTen wafud faumma so@ faum s@rg oe?
(1) ey @ Fagd qae gad am
(2) HagAmed T framia oTd @ IEeEMme fish orad
(3) WA @ EElY 1 Q= FAMGS WhaE AMNR AfgYS, AR 0 HewrEen & g
(4) Hagr=Al NGl FFEY Gyad" AL

65. TIH, IS, 74 3. HAGR A4 Hold A7 Higd JTHdd d TGN U ANefaes AHE 91 41
T4l Wiefiel Y] DIV YhR=Al Heqd T84 Fard?

(1) &R Fea (2) GRS FHEqN  (3) ATEEH FodN  (4) [HEINT HeL

66. THervr & wfamr |ivET S fewon Iya BT, %wmmmﬁmm
T faum el 3Rd @NsT S faye arg Tel?

(1) wfemres! diga STWeT=ar Iehedal acigd 319

(2) focareafn 9 srqyd R e & gerd Ty, qovieaR SR

(3) fagmreata wfam Fofo wem frefan sHavEs R

(4) facanegian onqd Heheq T wimarn fa sngedt, wfagdel Gey Wed @R SUEn.

67. YA STFHE fohan HfAwh s T oo W@ W FHT A A N 7Y A o
mqﬁwmm%@%ﬁaﬁaﬁf&mmﬁamwm7

(1) e (2) 3w qdEmE (3) FTHAAEE =A™ (4) T fareR

Q.B. Series — 102/202 Marathi / English / Math-Science (Set-A) 10 of 32

www.adda247.com/mr | Adda2471=RTcﬁApp | https://t.me/Adda247Marathi


https://play.google.com/store/apps/details?id=com.adda247.app

ol

6.

65.

67.

CHILD DEVELOPMENT AND PEDAGOGY
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o wundt (2) Tichner (3) Skinner (4 Thurston and Thormdike

In infancy the various movement of a child are dependant on motor skjl development, According
0 this which of the following statement is not correct ? o ’

(1) Matunty1s the main factor in motor development.
(2) Motor development starts after birth.

R)) Development occunng in the coordination of muscles and nervous system are included in
motor development.

(4) Siting, getting up, running etc are motor skills

Which of the following is not a correct example of sensation ?
(1) Anunconscious persons gets sensation about sound
2) Dogs find out thieves by smeling and sniffing things.

(3) When one puts an catable in the mouth the taste sensation are awakened
(@) When we go to the market we hear many sounds

Which of the following is an incorrect statement about perception ?
(1) Perception is the next step after sensation.
(2) Mindis active in perception and inactive in sensation

(3) Stimulus, sense organs and nervous system are the support of both mental processes 1.c.
sensation and perception

(4) Perception does not occur in absence of sensation

Instrument players, singers, dancers all impress us with their talent and entertain us. This is included
in which type of imagination ?

(1) Fantastic imagination (2) Aesthetic imagination

(3) Pragmative imagination (4) Reproductive imagination

Imagery is useful in various areas of education. Following are statements explaining educational
importance of imagery. Which of the following is not a correct statement ?

(1) Intensity of imagery depends upon the eagerness of experiences
(2) Experiences that are to be given to the students should be exact, clear and detailed
(3) Itis unnecessary to teach the students how to form imagery

(4)  While telling abstract concepts to students they should be related to pictures, diagrams and
models

We sometimes think that we have got what we desire and then keep some favourable and convenient
things in our mind. This happens due to which of the following defects is thinking process ?

(1)  Defectis observation (2) Prejudiced thoughts
(3)  Coincidental judgment (4) Wishful thinking
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Which is the alternative showing the correct sequence of concept forming stages 7
bs’ 3
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80,

Actual cognition of a thing

A (B) Giving abstract appeatance 1o it

Expression of concept in words

O (D) Generalisation from separated characteristics.
©) Separating of characteristics by analysis of some traits of various things of similar group.
A ¢, D, B E (2) E.C,D,A, B 3) AJE,D,B,C @) B,C,A D, E

‘ntelligence 18 the capacity to adjust successfully to relatively new conditions.” Which of the fol lowing
psychologisl gave this definition of intelligence ?

() William James (2) McDougal (3) Galton (4)

Burt.
Elizabeth Hurlock emphasized on ................ while explaining the concept of development.
(1) Maturity (2) New-competency (3) Characteristic (4) Effect
From the following alternatives .................. is a Normative teaching theory.
(1) Theory of Socrates (2) Theory of Instruction
(3) Theory of teacher behaviour (4) Gagne's theory

The pioneer of Moulding theory of teaching from the group of formal theories of teaching is
(1) Socrates (2) John Dewey (3) Herbart (4) Gagne

. Every child taking birth has a tendency of going to the average in case of characteristics. This is

according to .....cceeeveuee of heredity.
(1) Lawofsimilarity (2) Law of variation (3) Law of idealisation (4) Law of regression

The dynamic organisation of psychophysical mechanism which helps a person in specific adjustment
towards a situation is called as ..................

(1) perspective (2) family (3) personality (4) structure

The process which emphasizes a subject to behave in a specific manner towards a specific stimulus
foreg. “salivation” behaviour occurs when specific situation is created is called as
(1) Motorconditioning (2) Classical conditioning

(3) Operant conditioning (4) Temporal conditioning

--------------------

If mental processes like thinking, generalisation and reasoning are used for transfer of training from
teachers to students then this type of teaching is called as .............

(1) Conditioning (2) Indoctrination (3) Instruction (4) Training
The three types of personalities viz pyknic, Athletic and Aesthenic were put forth by ..............
(I) Hippocrates . (2) CarlJung (3) William Sheldon (4) Kreshmer

When an activity is done deliberately, purposefully and goal directed then its transfer value increases.
This opinion about transfer of training was proposed by

..............

(1) Judd (2) Bagley (3) Thorndike (4) Holzinger
Which of the following is a biological motive ?

(1) Need for power (2) Need forachievement

() Motherhood (4) Need for Affiliation

Which of the following is not included in ‘Self-Regulation’ a factor of emotional intelligence given
by Salovy and Mayer ? '

(I)  Self confidence (2) Self control (3) trustworthiness (4) Innovativeness
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(1) @H¥a FAER T Tel

(2) YA ¥ TR g1 A

(3) @ Vot v orade - FHO ST
(4) @ vg SO HE afedd@ .

A TR AUA aretes] AT HRO HOR?
(1) e Feraaeh agel g (2) m’faﬁ"'“"@,
(3) SAEFHH wErah A (4) FEar smE-aferdt wsw €

wﬁﬁmm,w-mﬁmﬁﬁw,ﬁqﬁﬁwm,aﬁmm&mm
e Y1 v Wed gral?
(1) vy (2) |HERHA (3) ufEda (4) wf=ER

A oo fauEES SR AU SR gEid ae o[ 4rd ATEl?

(1) ST S ST ST ST e AR we s faganaten geviie 9|
fasdat.

(2) awmmmmmawmﬁgmm@ﬁamww
e

(3) smorEeTe o SAEA SNE TAfad 1 el WEA-Fdt 9 AR AR THEHE e

(4) IragameaTen TN goi Bidte or® fafau srmA egwa <afad.

avTg fRal QuThE HISUMH] HERHEN 9ed 9H, Tl UhSiald STaAe &R Yah
7, gEaER =Tel Wiell ®1 oAa YEie YHeiat I FAE! WEH w3 Wi
Y TS AU SAId IYY A @iefieids! SVl NS &ha ?

(1) (2) 2feA (3) 7 (4) I Bl

Wrefierish! FIvT ST TEde Sfige w@aa faamyrerd, fagareafasd weR faan fafmg ==g
AT qEAdl, Fehtd, THEAfEw@ 3. 9t o fasm #o € am?

(1) =AM gl (2) 9Ffes 3199 ggdl (3) 9ed I 9gdl (4) 9HAE Y

m-mwmmmmmmmmm@a
Tou 3. AEl @ellasht SR S YR S S9ar?

(1) FFen-yum e (2) Ffdd-aam seee (3) srares disEe (4) BNIE-JYH Heae.
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82.

83.

8s.

86.

87.

89.
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which of the following is not a characteristic of maladjustment ?
(1) No adjustment with situations

' (2) Keeping possible expectation,
(3) Noharmony between ‘self” and ‘situation’.

(4) Behaviour affected by inferiority complesx
when people try to explain why they lagged behind in life the
there to go forward (progress) They pull us back. This is accord

(1) Sublimation (2) Compensation

y say that their society does not allow

INGLO................ type of mechanism.
(3) Identification (4) Delusion

When our previous eXperiences oppose our new learning experiences then it is called as
) Regression (2) proactive Inhibition

(3) Repression
Which of the following statement about Perseveration is correct ?
(1) Experience does not linger in the mind

(2) Experience is not experienced again and again

(3) Thisattitude is seen in every individual in more or little proportion
(4) Person having this attitude is an extrovert

(4) Retroactive Inhibiton

Which of the following is a social reason of Juvenile delinquency ?
(1) School timetable is faulty ()

(3) Curriculum not flexible

Financial imbalance

(4) Fight between parents in the family

Which of the following term includes physical actions, activities, thoughts occuring in the mind,
emotions that are formed, emerging ideas, etc ?

(1) Stimulus (2) Adjustment (3) Transformation (4) -Response.

Which of the following statement is not correct basic principle of learning ?

(1) Create those learning experiences while teaching which will bring out the creativity in the
students.

(2) Itisnot,necessary to consider the family background of the learner while deciding the learning
experiences.

(3) Select such learning experience that will integrate the emotions, actions and thoughts of the
learner '

(4) Select those learning experiences which will fulfil the needs of the learners

Which of the following psychologist proposed the theory of Hierarchial Learning which proposes
that learning process progresses in a sequence from easy to difficult and when the lower level
concepts are fixed properly then the person is ready to progress at the higher level of learning ?

(1) Gagne (2) Tolman (3) Guthrie (4) Clark Hull

Which bf' the following method has the objective of independént thinking power, capacity of

exchange of ideas and discussion, cooperation, patience, tolerance, etc and the development of
social traits ?

(I) Lecture method (2) Group teaching method
(3)  Unit Plan method (4) Correlation method

Which of the following types of project includes publishing magazines, preparing drawings,
sculptures, arranging picnics and playing games ?

(1) Problem oriented project (2)* Production oriented project

(3) Liking oriented project (4)  Skill oriented project

15 of 32
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1 5 @ 5 3) 5° (
4 +45+4° +4] 6’*6§+6’+,65+_65+6’=8_ A n=?
Ny s 13733
| 1
n 4 () j:: 3) 2 @ 3

f

o R . .
96. X .r+i=171Z a4>2+4+17v=0mxa)vmwwamaﬁaﬁmmﬁm
: x

Iga? |
(1) x<y (2) x>y 3) x=y @) x<)

97 mmmﬁaaﬁmmmwsoooa mmmmmw 12000

o0
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‘ ‘-
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MATHEMATICS & SCIENCE

(ISR )
W

- then what will be the first number 2

N | —

o1, If 2 number 782 s divided in the proporticn
1 202 ) 204
v 3) 391 o 10

92. Rightcircular cylinder of a radius 12 cmiis filled up to height 20 cm with
is immersed in the cylinder, water level nises by 6.75 cm. Find the radius :: ;rl‘l T\r?::emn ettt

n 3 2 9 3) 7 @ 1

93. Pnceofan article isincreased by 20%. What percent of discount should be dec] Se
price so that the article will be sold atits original price ? ared on the increased

2 2
(1) 163 () 123 3) 10 @) 20
94. If a*bc = 5% and ab® = 5° then abc = ?
(1 5° 2) 5° 3) 52 @ s
4’+4’+4’+4’x6’+6’+6’+6’+6’+6’_8. )
,5. 23 + 23 3, + 39 + 3’ ) lhen n=/
) 4 2 l L
(N (2) p 3 2 @) )

1 17 s
9. If x+ . = y and 47 + 4 + 17y = 0. Then what will be the relation between x and y from the

following ?
(1) x<y (2) x>y 3) x=y 4) x<y

97. Average salary of all workers in a factory is Rs. 8000. In it, if average salary of seven workers is Rs.
12000 and average salary of remaining workers is Rs. 6000 find the total number of workers in the

factory ?
() 18 (2) 20 3) 21 4) 22
98. Find the penimeter of o PQRS given in the figure
P2 Q
/
/ ‘ 6
£ase "
S “R
1) 16+32 ) 16+6v2 3) 28V2 4 222
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99. \/2—\[21:, J2 ,7’/2\/5 =7 | .

. AL 4 XL
5 3) 2" ’

b1 W B% TR A FrEen W 10% =

100, S T g w gt W 7% SO, W

?
: so1 sraear wigae fad
Taeen. R @MW WfHs IO TS50 @) 7200 ,

(1) ¥ 5400 (2) % 6000 (3) % 6600
101, TS FFHAR THI ATFD HEL 2 2
2
bl 2 9
3 3 ~4-
’iLJZ
2
(1) 48 < T 270 . w® 3) 72 A wH @) 52 . TFH

1ozmmmﬁgmmmﬁﬁmﬁmmmﬁmmm

W 4 @ 10 @ 9 45 s

103, T FEorsm §F 99 - 1 Yo aTRd. SR fyeron=t uRfidt 52 ¥t o¥e W wafd
e a9 fohdt oeErEl 3Ee?

(1) 9cm (2) 10cm 3) 1llcm @y 12cm

104. 3&Fdd, (AC)= /3 IBC)=1,l(CD)=3 mZACD =90° @ mZBAD

A

Y

B —C D
1) 100° 2) 90°

3) 120° @) 60°
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99. 2\/2\/2\/-2__ =1

31
D 1 2) 2% 5
(1) 2) 2 (3) »: @ 2:-‘:
100. Jay invested one third part of his funds at 2 rate of 7%,

. one fourth part at
at a rate of 10%. If his annual income is Rs, 561 Find the total fu:d he h:sralte o1 8% and rest par
(1) Rs. 5400 (2) Rs. 6000 (3) Rs. 6600 @) Rs.7200
101. From the given figure find the total area of 2 figure
2 2 2
2 2 9
T
3 3
u 2
2
(1) 48sq. unit (2) 70 sq. unit (3) 72sq. unit (4) 52sq.unit

102. Some points in a plane are joined pairwise by line segments. If number of line segments so formed

is 10 then find the number of points in a plane

n 4 (2) 10 3) 9 4 5

103. Sides of a triangle are in

1
2 proportion and if its perimeter is 52 cm then what will be the

W | =

1
5
length of its smallest side ?
() 9cm (2) 10cm (3) llcm 4) 12cm
104. In a figure if I(AC) = \/3 I(BC) =1, (CD) =3 and mZACD = 90° then find mZBAD

A

B C D
(1) 100° (2) 90° (3) 120° 4) 60°

Q.B. Series — 102/202 Marathi / English / Math-Science (Set-A) 19 of 32
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i h% HT
- ' = a4 @ BC whe fag O Fl A
105, 3MFAE, AABC H&l, AB = 20, BC = 42, AC = ot afel e o

anfaﬂaaﬁmﬁaﬁamqmzamm:aﬁamﬂuao

T B wE.
121
112 121 o
= Lt — qrft )
(1) l—a—ﬁ ) T@tﬁ (€) s 3
° = = Cc="7
106, 3gdd, 0 ABCD ZA = /B =90° £C =60 s, AD=7,BC=11 @A
A B
D :
600
&
B3) 43 @ 113

(1 13 (2 11

107. 3T, PQ > PR f&1 QS @ FFITRS ?
FIUE TG IF 3e?

gFR £Q T /R 3 g ed. ® Aot

P

Q R

(1) QS>RS (2) QS<RS (3) QS=RS#QR (4 QS=SR= QR

1os.anth.uABCD31€\waﬂ%.AB=10@tﬁ.mmwn%wamm.

(1) 43 g2 (2) 57 QP2 (3) 78.5 Q2 @) 21.5 92

109, T vHE el YU goWm {favaridt 400 T W) AL WA 41.58 T @ Sl W
it e fardt?
@ 1057 @ 10.5%H @ 10.39 T ) 10397
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165 2 AABC (i figure ande) AB= 20, BC = =42 snd .

\mcxamuno\mhngpomc ‘Q asa s ¥ point on the §
a8 3 Cantre. SCKH‘nﬂ NdCE“?
s apoent Q and R respecaively. Find the radius of « t

the semcircle
A
AN
R \
YN
—— AN
B 0 C
121 112
—— ‘\ ; ll: >
L \- - ) — l-l
< 3 ) 9 (4]

LY

7.BC =11 then find AC.

&‘V:

-~

C
D 13 Q@ 11 3) 43 @)

11IV3

107. In 2 aguwre. PQ > PR. Ray QS and ray RS are angular bisectors of ZQ and ZR respectively. Then
whar will be the most accurate altemative from the following ?

P

)

Va R

() QS>RS 2) QS<RS 3) QS=RS=QR &) QS=SR=QR

108 In a figure = ABCD is a square. Find the total area of shaded part of the figure.
A B

D
D B Q) 37cm’ 3) 785cm” 4) 215cm?

C

109. A :otal amount of Rs. 41.58 is spent over to paint the total surface area of certain solid hemisphere.
The rate of painting is Rs. 400 per sq. meter. then what will be the radius of hemisphere ?

() 105m (2) 105cm 3) 1039cm 4 10.39m
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1
11o.mmmmlol—rﬁ2mmmwm. .

100
0.05 i
(1) 10054 ) 10.005 @ (3) 100.5 @ @) 10
1. sma4mﬁ@wmqﬁﬂaﬁmﬁﬂﬁmaﬂa@aﬁmmm
[ A= "l Hel. -
(1) 6TFF @ 3w (3) 9T&EH (A

' ¢ 7 R HI, @
JFA <@, ‘mewmaﬁiompc .
e pqmﬁna':a?% am?iDmﬁ{Mwﬁmga'aﬁgmt@Aquwﬁi

M B
sraeTd, 99 PM : AP ¥ Ui el A
P
(1 5:8 () 5:3 \
Q\\'C'
: @ 3:4 3.
3 3:5 | )
10 1000_
113 1+(J71)" + (V1) N ) . .
3 V-1
(1 2 @ 1 ’
~-99
114. (0.98)3 = ..... 0 . o L6
(1) 0.06 @) 1.06 3 L

TR ' ' o, IR, A=

f wmm.mWszoo

115‘%W31:240tﬁ. m.mamm%ﬁmmmﬁ?ﬁ;?
mmmmﬁmmlsoﬁa@.mmamm :

i
(1) 240 (2) 250 (3) 90+ @) 160

-

116, 5T a=3+24-1 & b=5-3J—1 e Wa q b T, Hay TEte IFEE T i

FFeT? |

(A) ‘a’ &b’ T TR, (B) ‘a’ ¥ ‘b’ U&N T awr%.. -

(C) ‘a’ & ‘b v A 3R, (D) Q' b’ o GO 8IS YA EL

() A9B (2 AdC (3) T A @ wFD
117, SFdEEA, e A TG HIvr? Y

() xﬂmmﬂywzﬁ#ﬂﬁﬁaﬁﬁ
2 vq x 9@ y B R IR

_ ) X
A3) o FEE FU RS y @ e o 3. N o‘P
@) ywmﬁmﬁﬂv@xwmammmmm,
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110

11

112.

113.

114.

115.

116.

117.

What is the length of a side of a square shaped farm having area 101 =N m’ 9

100

) 10.05 m (2) 10.005m (3) 100.5m (4) 100.05m

5 units and 4 units are the radii of two concentric circles. The chord of larger circle is tangent to the
smallercircle. Find the length of the chord.
(1) 6unit (2) 3 unit (3) 9 unit (4) 1 unit
In a figure in a square ABCD point P and point Q are the points on side AD and side BC respectively.
such that if a figure is fold along segment PQ point D coincides with point M. Point M is a mid
point of side AB. Find the radio PM : AP. A M B

1) 5:8 @ 5:3 P

3) 3:5 @ 3:4 \F

( ) .Q,:'C '

100 10 1000 D C

1+(\/-_l) +(\/:_l) +(\/——l) —orren

(1 2 @ 1 3 J~1 @ 0
0.98)3=......

(1) 0.06 (2 1.06 3 1.09 @) 1.62
Prasad’s house is at a distance of 200 m. from each temple. Distance between two temples is 240

m. Prasad’s house and Sagar’s house is exactly opposite side of a road joining the two temples. If
Sagar’s house is at a distance of 150 m. from each temple then find the distance between Prasad’s

house and Sagar’s house.

(1) 240m (2) 250 m (3) 90m 4) 160m
fa=3+2J-1and b=5- 34/—1, then which of the following alternatives indicates most accurate
relation between ‘a’ and ‘b’

(A) ‘a’isequalto ‘b’ (B) ‘a’islessthan ‘b’

(C) ‘a’isgreaterthan ‘b’ (D) Willnot compare ‘a’ with ‘b’

() AandB (2 AandC (3) Only A 4) OnlyD

From the figure given state what is a suitable alternative from the following : y

A

(I) For each value of x there are two values of y.

(2) For positive x, y is negative.

()  For any negative value of x, y is always positive. “ o

v

(4)  Forevery value of y, there are two values of x, one is positive and other is negative.

\
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AT u9s . 118, 119, 120 [t i
119, @ 120 =t I forem:

mﬁﬁﬁc&ﬁmﬁaﬁawﬁaﬁﬂ

mzoooazommfraFmﬁm

118.

frdt Za @el?
Q) 7L11% (2) 68.54% (3) 73.17% @) 77.26%
119.mzooomﬁauéf‘aﬁaﬁtqa§mﬁmm&m . o
1P 73 (2) 80 (3) 88 @
120, §F 2001 mﬂaA,B.cmﬁmmﬁaﬁaﬁmﬁﬁmzooomﬁaA,C,mew
fgen GUEde fadl ZFRM F?
() 75% (2) 71.5% (3)/82.5% @) 87.5%
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o ?C‘de + On Y-axis Sale of Books
st ¢m = Rs. 10,000
N T
L8 -+ .-“:':~f;~l—‘— IO
+ 1 11 1 O g 1;: T
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SRR e | 1 I s
ERRARE . H | ] B
w R B W - "
= ) -+
JUUEFERR SRS . . VS {
ESNRaEaT- ¥ i
H 5 »
e E
- ~~-~g;4 tusa _;,"F
RENREER" =, e W ) e
Sl 1 31
i Jo, i N il i {
- Q‘., + W e
ERENREY- ] —— T
L ] Al ‘ Ly
| | = L
AEDEE BB
1 | L
T T o | S 1T 1
SR AR Py o —— RS SR
B e HorHSe T Lzﬂ:?iiﬁ’_‘;ﬂ:’;{ ?‘_‘.E:;f saus k| 1
ESaasaa , {BoelSefersy L L
L anen TR A e S
Ha PR e e e e R

118. What is the percentage of total sale of seller F in both the years 2000 and 2001 to the total sale of
seller C in the same period ?

1) 71.11% (2) 68.54% 3) 73.17% 4) 77.26%

119. Find the average of total sale done by all sellers in the year 2000.

1 73 (2) 80 (3) 88 4) 83

120. Find the percentage of average of the total sale done by the sellers A, B, C in the year 2001 to the
average of the total sale done by the sellers A, C, F in the year 2000.

I 75% 2 77.5% (3) 82.5% 4 87.5%
————— -
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121, AR Wl THFAB I covercmrnreee

(1) fagaum (2) A4

(3) foregawre (4) wrd
122, Mg?* A T et geiagi g ?

(1) 10 2 11

3) 12 @) 14
123, GOYHT SEFTTA ..oooveeeeee 374,

(1) mmmmm
(3) = gR@t s s AT

124.mqw?atammwmmﬁammwmmﬁ .............

Frgal
(1) S e 3§ (2) dred -
(3) AR Fren AHd (4) &,
e 5 10 18 36 ST 54 STHURN RS .eeceeeeeeeenees 3Ted.
125, mFHi® 2, 10, 18, 36 ST 54 STEOTQ TEEEA coveone
(1) ehd ¥ (2) STl wE PRI
(3) e (&) Fifera g T
126, fERTATE TSAT coovvneneenees T Bl
(1) @eEuad (2) hfcHET
(3) fefared (4) wEfa
3 ?
7 @mmwmmaa’t 1 mmw.mmwm.
v (1) 9.8m | ii 19.6 m
4.9
@) 12m @ 149m
128, WO WEES WY HUR?
(1) ¥ (2) w3
(3) FeuigH FAEE (4) WRfEn AlREERS
129.;w$?aﬂ&:ﬁuﬁ,ﬂaﬁﬁﬁm .............. T v . |
(1) ®5F (2) ST el
(3) WA (4) R
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121.

122.

123.

124.

125.

126.

127,

128,

129,

Electric charge per 11011813 J— |

(1) electric current (2) resistance

3) electric power (4) work done
How many electrons are present in Mg2* jon ?
a 10 (2) 11

@3 12 4) 14

Analogous organs have
() Same structure and same functions (2) Same functions and different structure

(3) Same structure and different functions (4) Different structure and different functions.

If there were no atmosphere on the earth, the duration of day light would have ..........

(1) decreased (2) increased

?3) become infinite (4) remained unchanged.

The elements with atomic number 2, 10, 18, 36, and 54 belongs to ............

(1) alkali metals (2) alkaline earth metals

(3) halogens ‘ (4) inert gaselements.

Reproduction in yeast takes place by ...........
(1) fragmentation (2) budding
(3) binary fission (4) multiple fission

A stone is dropped from the top of a building and it reaches the ground in 1 second. What is the
height of building ?

() 9.8m (2) 19.6m

3 12m @ 49m

Which of the following is a covalent compound ?

(1) Sugar (2) Common salt

(3) Calcium chloride (4) Magnesium oxide.

Ineukaryotic cell, glycolysis takes place within .....c........

(1) nucleus (2) endoplasmic reticulum

(3) Cytosol (4) mitochondria
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130, TF T 2.5 VHIM 40 e Ul Feam. deel el AR v 3R,

(1) 100Hz (@S 16 Hz (3) 200 Hz (4) 42.5Hz
131.10ga@mmmmﬁmm.mmma@m .............. .
() 90g (2) 45g (3) 20g , @) 18g .
132, I T HE@AE @A oo 3 g I

(1) wefrEm (2) ETEHE (3Y TR (4) dferEm
133, TF TR@ YealaR aRgEM 12kg o, WX @ aR WEEX At @ o qEH T

............. el

(1) 72kg @) 2kg (3) 6kg @) 12kg
134, RN A1 FAGTAT FHEAMTHI oo 3Tl

(1) =gA TEaa § T WM (2) 3 W 9 TH FgH

(3) T WRM T A A (4) T e T TH F2A
135, e R AR WARGHE A6 B v ¥ IIE IR

(1) ToEHad geTae 7y WA e

(3) YHRIEEd ST (4) oHad gerEr
136, 1 . Tfg iR srwuEar Wféew Tt wed R

1
(1) 1D (2) 100D 3) 1D (4) 10D

137. @GS ot FH WY o I FHA?

1) O, ) N, @3) Cl, (4) HCI
138, TEM Tdsd et Rl ... T B
(1) 31 "rgH (2) oTchell HIEAH
(3) 3fET AeIw (4) THYUER S0
139, I BATAT MBI T ... IR Tl
(1) wAfgm (2) IR (3) HFqa® (4) =27
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130. A sound wave completes 40 oscillations in 2.5 sec¢onds, its frequency is

.............

@) 425 Hz

131. 10gofhydrogen is burnt in the presence of excess of oxygen. The mass of water formed jg
1

(1) 90g (2) 45g (3) 20g

132. Ureais animportant fertilizer rich in

..............

(1) Magnesium (2) Phosphorus (3) Nitrogen (4) Potassium

133. The mass of a body is 12 kg on the earth. If it is taken to the moon, its mass would be

..........

(1) 72kg (2) 2kg (3) 6kg 4) 12kg

134. The isotope Deuterium of hydrogen has

---------------

(1) No neutron and one proton (2) Two protons and one neutron

(3) One electron and two neutrons (4)  One proton and one neutron

135. Growth of pollentubes towards ovules is an example of

..............

(1) Geotropism (2) Chemotropism
(3) Phototropism (4) Hydrotropism

136. What is the power of convex lens having local length 1cm ?

1

() 1D (2) 100D 3) -I—O-D . @ 10D
137. Which of the following has smallest bond legnth ?

1 o, (2) N, 3 CI, 4) HCI
138. Digestion in small intenstine occurs in .................

(1) acidic medium (2) alkaline medium

(3) neutral medium (4) isotonic solution
139. The right hand thumb rule is stated by ................

(1) Fleming (2) Oersted (3) Maxwell (4) Newton
\ .
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(1) AL(COy); (2) AICO, @) ALCO, @) Aly(COs),

141, THSYH R FUNT AL I FANVE LN AT

(1) HO™ @EY (2) S W (3) YRR &R (4) @@= T
142.m40mmzsmmmamé6ﬁﬁw .................. AR,
I
(1) 1000 watt (2) 1kWh (3) 10kWh ) EkWh

143.mm6mw12m,m24ﬁqm@mﬁﬁﬁmm?

}yy 1.2044 x 1023 ) 6.022 x 102 (3) 6.022x 10% @) 1.2044 x 10!
144, 7 TR THHABIIN covvevvnrennenes = H Sieel S ~ |
S (2) Freh «(3) ey (4) T
145, AHRE tFATAl TR coernnenes 37|
(1) 20Hz 9&1 ST J2) 20Hz Yen &
(3) 20,000Hz Y& S (4) 20Hz d 20,000 Hz =1 T0AM
146, Na,CO3 BT conuresvnens a1 &R IR

(2) g s omfor W A
(4) Qe st nfor e SR

)y fem (2) ym (3) 9ETE (4) TEHH
148, S4km/hr & AT 2= 3 S o o
(1) 10m/s @) 12m/s }/3)/ 15 m/s (
149, femy qrd T GETY o 71 WA @ T
(/ atffeafehT™ (2) &9 (3) & (4) TEGISHIRIY
150W@1mﬁwmmﬁwwﬁmuﬂmﬁ ................ Qa1 F YRHIE THE.
@ 3 2) 4 3) 2 @ 5
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140.

141,

142.

143.

144.

145.

146.

147,

148,

149,

150,

The correct formula of alumiﬁium carbonate is ..........
() AL(CO3); (2) AlICO, (3) ALCO
2 '
| | 3 @) AlL(Co,),
Which one of the following is acquired character and not inherited character 7
(1) Nature of hair (2) Colour of eye (3) Size of body () Colourof skin
If 240 watt bulb is used for 25 hours, then energy consumed is ...
(0 1000 watt (2) 1kWh (3) 10 kWh ) —1- KWh
10
Atomic number of carbon is 6 and atomic mass is 12. How many atoms of carbon are present in
2.4g carbon ?

(1) 12044%10%  (2) 6.022 x 1023 (3) 6.022 x 1022 4) 1.2044 x 102!

Two bones are connected with each other by

------------------

(1) tendons (2) cartilage (3) ligaments (4) fibres.
Infrasonic sound have frequencies................

(1) above 20Hz (2) lessthan 20Hz

(3) above 20,000Hz (4) between 20Hz to 20,000 Hz.

Na,CO, is asalt of ............ o

(1) strong acid and strong base (2) strong acid and weak base

(3) weak acid and strong base (4) weak acid and weak base.

Which of the following gymnosperms is considered as a living fossil ?

(I) Ginkgo (2) Thuja (3) Pinus @) Cycas.
A speed of S4kmv/hr is equal to .........

(D) 10mss (2) 12m/s (315 m/s ) 20m/s
Fats containing food becomes rancid due to the process of ...............

(1) oxidation (2) reduction

() corrosion (4) hydrogenation

The generic as well as species name of an organism does not generally have less than ...........
letters,

1) 3 Q) 4 3) 2 @ 5
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